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p1 q1 DIC Dic*
2Quy.ug)_ _ _ " 3(vy,vpvz)_ _ __ 100.9556 105.8770, £ 04
2(u1,un) 4(v1,v2,v3,v4) 101.3951 107.0795 :
3w, un,uz) 3(v1,v2,v3) 102.7035 108.3584
2(u1,un) S5(v1,v0,v3,v4,v5) 104.0097 111.1101 03
3(uq, up, uz) 4(v1, v, v3, vq) 105.0182 111.6681 ’
5(u1, up, U3, g, u5) 5(w1,v2,v3,04,v5) 110.0000 131.7739
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p1 q1 T 5 r3 Ty 2 01
2(uy, uz) 3(v1,v2, 13) 0.5270 [ 0.1195
2(uy, uz) 4(vy,v2, U3, U4) 0.5520 | 0.1207
3(uy. uz,uz) 3(v1,v2,v3) 0.5308 | 0.1200 | 0.0562 a0
2(uy. u2) 5(vy1., v, 3, 4. v5) | 0.5568 | 0.1458 | 0.1049 | 0.0119
3(u1. up, u3) 4(v1,v2,v3,v4) | 0.5564 | 0.1211 | 0.0565 12 3 4 5 6 7 8 8 10
5(uy. us, u3, ua, us) | 5(vy,vo,v3,v4,v5) | 0.5934 | 0.2162 | 0.1172 | 0.0518 | 0.0054
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